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1. The sage who is said'to have

/1:A

Aryanized South India was

| (A) Vishwamitra

(B) “Agastya
(C) Vasistha

(D) Sambhara

. During the period of 16

Mahajanapadas, Mathura was
the capital of

(A) Vajji -
(B) Vatsa -
(C) Kasi

(D) Surasena :

. Where did Buddha preach his

first sermon?

(A) Kasi

(B} Sarnath
<A

(C) Kushinagar

(D), Bodh Gaya

In the Mauryan ' period, tax
evasion was punished with

(A) death e,

(B) confiscation of goods

" (C) imprisonment

(D) None of the above .-

4

5. In which'modern day’s State, the

University of Vikramasila was
located? '

(A) Madhya Pradesh
(B) Odisha '
(C) Bihar \
(D) Jharkhand

6. The art of Ajanta was mainly

patronized by the
(A) Chalukyas
(B) Pallavas

(C) Vakatékas

‘ (D) Gangas

7. The Sultan who.is said to have

raised the land revenue to one-
half of the produce was

~_(A) Balban

(B) Ala-ud-din Khilji
(C) Muhammad bin Tughluq
(D) Firuz Tughluq

- 8. Which form of Buddhism was

prominent during the Sultanate
period?

- {A) Theravada
(B) Hinayana
(C) Vajrayana
(D) Tantrayana

—



1.

/1-A

o =Y & TN & w7 wman @ 5 =R
efror G &1 e e, 3% o
Y

A) fwarfm
(B) TR
(C) afvrg

(D) W

. HiE WEeHYal % T # AYU ¥ Q@

Torueht Tt oft?
(A) =it

(B) =@

(C) wreht

(D) g

TG, 3 YT I5AT I FEl o ot
(A) et

(B) €A™

(C) TATR

(D) sY-TR

Aot & S A AR () R
T @ 1 gve foa S an?

(A) qITS

(B) wmw bt bt (St
(C) Ha™

(D) 3R # § =g e

. frnfien fafteey = @ a9 &

for v o erafedm ?
(A) W R

(B) anfsm

(C) forw

(D) ¥wEve

i

. 39l Y wenm w FH QA R W

(weran) fean?
(A) T
(B) wga

(C) TFeH

(D) Tm

. for e & R ey o 2 SR

- F I F 50% a6 R @
o1?

(A) w&&T

(B) e Raersht
(C) ere fert gre
(D) Rl e

. geart gn # g fit wE-H o

waw wraEed off?
(A) ¥ET=R
(B) ™
(C) IF™

(D) TR

[P.T.O.




9.

10.

11.

Who among the following is also
known as ‘Andhra Bhoj?

(A) Krishnadeva Raya
(B) Rajendra Chola
(C) Harihara

(D) Bukka

Hemchandra Vikramaditya is
famous in Indian history as

(A) Puran Mal
(B) Maldev

(C) Rana Sanga
(D) Hemu

Which revenue system among
the following is also known as
the Bandobast System?

(A) Zabti
(B) Dahsala

- (C) Nasaq |

(D) Kankut

12. Abul Fazl’s death was caused by

13.

/1-A

(A) Prince Salim

(B) Abdur Rahim
Khan-i-Khanan

(C) Prince Murad
(D) Prince Daniyal

Which Mughal Emperor
prohibited the use of tobacco?

(A) Babur

(B) Jahangir

(C) Aurangzeb

(D) Muhammad Shah

14.

15.

16.

17.

18.

The export of slaves from Bengal
was banned in which year?

(A) 1764

(B) 1789
(C) 1858
(D) 1868

‘Ring Fence’ policy is associated
with

(A) Henry Lawrence
(B) Dalhousie
(C) Warren Hastings
(D) Lord Clive

The Age of Consent Act was
passed in the year

(A) 1856

(B) 1891

(C) 1881

(D) 1905

Public Works Department was
organized in 1845-1855 by

(A) Lord Dalhousie

(B) Lord Cornwallis

(C) George Auckland

(D) Warren Hastings

Who was the first Indian selected
as a member of the British
Parliament? »

(A) R. C. Dutt

(B) Dadabhai Naoroji
(C) Rammohan Roy
(D) Meghnad Desai
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20.

21.

22.

/1-A

The first tribal leader who was
inspired by Mahatma Gandhi
and his ideology was

(A) Alluri Sitaram Raju
(B) Jodanang

(C) Jhabkar Bapa

(D) Rani Gaidinliu

Who among the following is
popularly known as the Frontier
Gandhi?

(A) Maulana Abul Kalam Azad
(B) Khan Abdul Gaffar Khan
(C) Jatin Das

(D) Maulana Muha{nmad Ali

For the first time, Pumé Swaraj
was declared by the Congress at

(A) Lahore
(B) Amritsar
(C) Lucknow
(D) Tripura

The Rowlatt Act was passed to

(A) bring about agrarian reforms

(B) curtail the national and
revolutionary activities

(C) have a favourable ‘balance of
trade’

(D) put Second World War
criminals on trial

23.

25.

Muzaffarpur Bomb Case (1908)
is associated with

(A) Savarkar
(B) Ajit Singh
(C) Prafulla Chaki

(D) Bipin Chandra Pal

. Who among the following is

associated,l with Sanatan Adivasi
Mahasabha?

(A) Theble Oraon
(B) Tilka Manjhi
(C) Silu Santal

(D) Duka Ho

Who among the following was
linked closely with Kisan Sabha
Movement in 1930s?

(A) Swami Vidyananda
(B) Swami Sahajananda
(C) Baba Ramananda

(D) Sardar Patel
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27,
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29.
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What causes the change of
seasons?

(A) Earth’s
revolution

(B) Earth’s revélution

rotation and

(C) Earth’s revolution and inclina-
tion of its axis

(D) Earth’s rotation and inclina-
tion of its axis

Which of the following rocks is
not likely to contain fossils?

(A) Conglomerate
(B) Granite

(C) Shale

(D) Sandstone

Which human activity is most
affected by climate?

(A) Fishing

(B) Mining

(C) Manufacturing
(D) Farming

The most common areas of
nomadic herding are

(A) hot humid regions
(B) cold humid regions
(C) rainy areas

(D) dry areas

30.

31.

32.

33.

Large amount of labour is
applied on small-sized holdings
under the system of

(A) Mediterranean farming
(B) Oriental farming
(C) Commercial farming

(D) Commercial horticulture

What is the effect of Chinook in
the central plains in the USA?

(A) Temperature of winter rises

(B) Temperature of
reduces

summer

(C) Uniform temperature

(D) No effect on temperature

Which of the following pairs is
not correctly matched?

(A) Fulani—West Africa
(B) Bantu—Sahara

(C) Masai—East Africa
(D) Nuba—Sudan

Which layer of atmosphere is
used for telecommunication?

(A} Troposphere
(B) Thermosphere
(C) Stratosphere

(D) lonosphere
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The first cotton mill of India was
established at

(A) Bombay
(B) Ahmedabad

- (C) Baroda

(D) Calcutta

e

In which .part~ of India,
Dandakaranya is situated?

(A) Northern s
(B) Eastern
(C) Central

(D) Western

What is the most accurate
method of representing relief
features?

(A) Contours
(B) Hachures
(C) Layer colouring

(D) Hill shading

Tsunami is the result of

(A) shrinking of the earth’s crust
(B) cyclones

(C) submarine earthquakes

(D) tides
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38.

39.

a0 op

‘Transhumance’ refers to

(A) migration of animals in
ranches
(B) human migration in search

of job
(C) seasonal movement of people
and their herds from valley
to mountain and vice versa

(D) migration of nomads

Match List—I with List—II and
select the correct answer using
the codes given below the Lists :

List—TI List—II
(Rivers) (Their Tributaries)
Krishna 1. Chambal
Brahmaputra. 2. Indravati
Godavari 3. Tista
Yamuna 4. Bhima
Codes

(A) a b c d
4 3 2 1

(B) a b d
3 4 1 2
C) a b c d
4 3 1 2
(D) a b c d

w
N
N
—
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40. The power plant of Manikaran

41.

42'

/1-A -

- (4)

based on geothermal energy is in
the State of

(A) Arunachal Pradesh
(B) Himachal Pradesh
(C) Jammu and Kashmir
(D) Uttarakhand

If LANDSAT data ‘forran area is
received today, then the data for
an adjacent area to its west will
be available .

in the next ‘or,bvit of the
satellite on the same day

(B) next day at ‘the same local

time
(C) after certain number of days

at the same local time

(D) é{ftér a variable controllable
time

Consider the following relief

features :

1. Zaskar Range

2. Dhauladhar Range

3. Ladakh Range

4. Karakoram Range

The correct south to northward

sequence of the above relief
features is

A 2,1,3, 4
B) 2,3,4,1
) 4, 3,2,1
D) 4,2,1, 3

12

43.

a4,

45.

The most abundant gas emitted
from volcanoes is

(A) water vapour
(B) helium
(C) sulphur dioxide

(D) carbon dioxide

Which one of the following pairs
is correctly matched?

Tribes Native States
(A) Tharu Uttarakhand
(B) Bhutia Uttar Pradesh
(C) Munda Bihar
(D) Kol Rajasthan

The correct sequence of the
Great Lakes of the USA from east
to west is

| (A) Huron—Michigan—Ontario

—Superior—Erie

(B) Superior—Ontario—Erie
—Michigan—Huron

(C) Ontario—Erie—Huron
—Michigan—Superior

(D) Erie—Huron—Michigan
‘—Ontario—Superior
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46. The Canadian Pacific Railway

47.

/1-A

runs between

(A) Edmonton and Halifax

(B) Montreal and Vancouver

(C) Ottawa and Prince Rupert

(D) Halifax and Vancouver

-
% B
A%

Match List—I with List—II and

select the correct answer using
the codes given:below the Lists :

List—I
Gulf Stream
West Wind
Drift

Peru Current
West Austra-
lian Current

Codes :

A a b
4 2

(B) a b
1 3

(C) a b
4 3

D) a b
1 2

1.
2.

w

List—II
Pacific Ocean
A slow east-
ward move-
ment of water
over the zone
of westerly
wind
Indian Ocean
Warm current

w A

N Q. Q.

(o N
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48.

Kaziranga is known for
(A) Rhinoceros.

(B) Tiger

(C) Birds

(D) Lion

49. The Aswan High Dam is located

50.

in

(A) Sudan

(B) Egypt

(C) ‘Z‘aire

(D) Nigeria

Robusta is a variety of ——
produced in Africa.

(A) banana

(B) coffee

(C) tobacco

(D) cocoa
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52.

53.

. J1-A

the

Which Commission advocated
establishment of a
permanent Inter-state Council,
called ‘Inter-governmental
Council™?

(A) Punchhi Commission
(B) Sarkaria Commission
(C) Radhakrishnan Commission

(D) Moily Commissiort

As part of the Right to Freedom,
which one of the following does
not form part of “Fréedom to
Assemble Peaceably and Without
Arms”?

(A) Gherao officials
performing their duties

not

(B)
(€)

Assembly must be peaceful

People who assemble should
not bear arms -

(D) State can make a law
imposing reasonable restric-
tions on the exercise of this

Right

Name the Chairman of the ‘Law
commission’ who  advocated
“One-third of the judges in each
High Court should be from
another State”.

(A) Justice P. N. Bhagwati
(B) Justice Hidayatullah
(C) Justice H. R. Khanna
(D) Justice Chandrachud
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54.

s5.

56.

To whom does the President of
India submit his resignation?

(A) The Speaker of the Lok
Sabha

(B) The Vice President of India
(C) The Chief Justice of India

(D) The Prime Minister of India

How long can the Vice President
act as President when the
President cannot perform his
duties for reasons of death,
resignation, removal or
otherwise?

(A) 5 years
(B) 1'% years
(C) 1 year

(D) 6 months

An ordinance promulgated by
the President must be placed
before the Parliament within how
much time after the start of its
session?

(A) 1 month
(B) 6 weeks
(C) 8 weeks

(D) 6 months
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57. Estimates of expenditure are

58.

59,

/1-A

submitted to the Parliament of
India in the form of

(A) Ad hoc Funds
(B) Excess Grant
(C) Supplementary Grants

(D) Demands for Grénts

The revenue estimates of the
Budget in India are prepared by

(A) the Central Board of Direct
Taxes

(B) the Cabinet Secretariat
(C) the respective commissions

(D) the Ministry of Finance

‘Budget’ is an instrument of
(A) monetary policy of the
government

(B) commercial policy of the
government

(C) fiscal policy of the
government ‘

(D) money-saving policy of the
government

i8

60. The

61'

- 62.

provision that “no bill
imposing ‘tax can be introduced
in the legislature except on
the recommendation of the
President” is covered in the
Constitution of India under

(A) Article 117

(B) Article 266

(C) Article 306

(D) Article 307

Money received by the -
government under the ‘State
Provident Funds’ is credited to
the

(A) Contingehcy Fund

(B) Consolidated Fund

(C) General Development Fund

(D) Public Accounts Fund

The Indian Parliament exercises
control on the audit of the
Budget through its

(A) Estimates Committee

(B) Public Accounts Committee

(C) Privileges Committee

(D) Audit Review Committee
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(B) 31T 266
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64.

65.

66.
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In India, seats are reserved for
women in

(A) Panchayati Raj Bodies

(B) State Legislative Assemblies
(C) the Cabinet

(D) the Lok Sabha

The Nationalist Congress Party
was formed in 1999 following the
split in

(A) Shiv Sena

(B) Congress Party
(C) BJP

(D) BSP

Which one of the following is not
taken as a factor among the
non-economic factors which
contribute in economic growth?

(A) Human resource
(B) Corruption -
(C) Social organization

(D) Market surplus in agriculture

Which one of the following is not
a department in the Ministry of
Finance?

(A) Expenditure
(B) Revenue .
(C) Banking Division

(D) Economic Affairs

20

67. With respect to the procedure of

- 68.

69.

Budget in the Parliament, “the
amount of demand be reduced to
Re 1” is called

(A) Economy Cut-Motion
(B) Policy Cut-Motion
(C) Basic Cut-Motion

(D) Token Cut-Motion

Theoretically, if economic growth
is conceptualized, which one of
the following is not usually taken
into consideration?

(A) A rise in gross domestic
product (GDP)

(B) A rise in financial aid from
World Bank

(C) A rise in gross national
product (GNP)

(D) A rise in per capita gross
national product

Who was the Law Minister
in the first Cabinet of post-
independence India?

(A). K. M. Munshi
(B) S. P. Mukherjee
(C) Baldev Singh

(D) B. R. Ambedkar
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67.

68.

69.
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(A) e I T
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70.

71.

72'
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Integrated Child Development
Services (ICDS), launched in
1975 in India, is a scheme
implemented by

(A) the Ministry of Education
(B) the Ministyy of HRD
(C) the Ministry of Finance

(D) the Ministry of Women and
Child Welfare

The Industrial Policy, 1991 was
criticized on a number of points.
Which of the following was not
one of them?

(A) Erratic industrial growth

(B) Threat
competition

from foreign

(C) Neglect of agriculture sector

(D) Misplaced faith in foreign
investment

Rangarajan =~ Committee - on
Disinvestment of Shares was
appointed by the Government of
India in

(A) 1991
(B) 1993
(C) 1999

(D) 2004

22

73.

74.

75.

Which one of the following does
not mainly form a part of
Tax Revenue of State Govern-
ments in India?

(A) Land Revenue
(B) Registration Fee
(C) Customs Duty

(D) Commercial Tax

World Consumer Rights Day is
celebrated on

(A) March 15
(B) April 18
(C) September 27

(D) December 10

South Africa joined BRIC (Brazil,
Russia, India, China} of the
fastest growing economies in

(A) 1999
(B) 2001
(C) 2008

(D) 2011
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74.
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75.

(A) 1999
(B) 2001
(C) 2008

(D) 2011
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77.

78.
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Which Puja of the tribals is held
in thé* Hindu month of
Bhadrapada?

(A) Ramnavami (’\
(B) Sarhul

©) Karfna

(D) Sohrai

The villageb head of the Santhals

is called
(A) Mahto
(B) Parha
(C) Mukhia

(D) Manjhi

‘Dhumkuria’ social ‘organization
belongs @ to: which . tribal
community?

(A) Oraon
(B) Kurukh
(C) Munda

(D) Santhal

79. Surajkund of Hazaribag is the
hottest  water  spring  of
Jharkhand. What is its
temperature?

(A) 80 °C (182 °F)
(B) 84 °C (186 °F)
(C) 88 °C (190 °F)

(D) 92 °C (194 °F)

80. In which region, Fusfus’ sandy
soil is found in Chota Nagpur?

(A) Damodar Valley region
B) Singhbhum region
(C) Koyalkaro region

(D) Palamau region

81..When was the Damodar Valley
Corporation established?

(A) 1945
(B) 1946
(C) 1947

(D) 1948
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83.

84.

85.
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When was the Catholic Church
established in Ranchi?™

(A) 1909
(B) 1910
(C) 1911
(D) 1912

Which is the highest waterfall of -
Jharkhand where water falls
from the height of 100 metres?

(A) Hirni
(B) Hundru
(C) Dassam

(D) Jonha.

How many types: of crops are
mainly produced in Jharkhand?

(A) One -
(B) Two

(C) Three
(D) Four

Who was the mai_n leader of the
whole Singhbhum region in 1857
Revolution?

(A) Raja Durjan Sal

(B) Raja Arjun Singh

(C) Thakur Vishwanath Shahi
(D) Tikait Umraén Singh

26

'86. When did the Tana" Bhagat

Movement start?
(A) April 1912
(B) April 1913
(C) April 1914

(D) April 1915

87. Which of the following Adivasi
leaders from Chota Nagpur was
the member of the Constituent
Assembly?

(A) N. E. Horo
(B) Jaipal Singh
(C) Sushil Kumar Bage

(D) Kartik Oraon

88. What is the literary meaning of
‘Birhor™

(A} Man of forest
(B) Nature-loving man
(C) Pious man

(D) General man
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89. From which Sanskrit word has

90.

91.

/1-A

the word Lac’ originated?

" (A) Yaksha

(B) Laksha
(C) Taksha

(D) Daksha

When was Tata Iron and Steel
Company established in
Jharkhand?

(A) 1905

(B) 1906

(C) 1907

(D) 1908

Who was the first Governor of
Jharkhand?

(A) Rama Jois
(B) Syed Sibte Razi
(C) Ved Marwah

(D) Prabhat Kumar
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92. When did the Chota Nagpur
region come under the British
rule?

(A) 1764
(B) 1765
(C) 1772

(D) 1773

93. When did the Santhal Pargana
Tenancy Act come into force?

(A) 1856
(B) 1857
(©) 1858

(D) 1859

94. When did the Wilkinson
Law come into existence in
Chota. Nagpur?

(A) 1834
(B) 1835
(C) 1836

(D) 1837
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96.

97.
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When was the Chota Nagpur
Tenancy Act enforced?

(A) 1905
(B) 1906
(C) 1907

(D) 1908

Sohrai is the biggest festival of
which tribe? .

(A) Birhor
(B) Santhal
(C) Munda

(D) Oraon

What is the height of Parasnath
Hill?

(A) 4380 feet
(B) 4480 feet
(C) 4580 feet

(D) 4680 feet
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98. What is the name of the festival

99.

100.

of flowers of the Adivasis in
Jharkhand?

(A) Tusu
(B) Baha
(C) Sarhul

(D) Karma

Which dance style of Jharkhand
has become famous on national
and international level?

(A) Paika
(B) Jadur
(C) Jatra

(D) Chhau

Who was the first Chief Minister
of Jharkhand State?

~ {(A) Shibu Soren

(B) Madhu Koda
(C) Babulal Marandi

(D) Arjun Munda

e e g 5

e ———




9S.mmwmm§m

96.

17 ‘
(A) 1905
(B) 1906

(C) 1907

(D) 1908
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() 4380 T
(B) 4480 F2
(C) 4580 T2

(D) 4680 $2
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